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1. Find the values of = for which the [ollowing
power series converge.
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4. Use Lhe Maclaurin expansion lor ¢
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3. Find the Taylor series centered at c.
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in . How many terms of the infinite series are

needed to approximate the integral for @ = 1 to
within an error of at most 0.0017
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5. Sketch ¢ft) = (£2,sint) for 0 < 1 < 27.
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a. I'ind the equation of the tangent line at ¢ =
4.

b. Find the points where the tangent has slope
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7. Show that one arch of a eycloid generated by
a circle of radius /2 has length 84.
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8. Find the minimum speed of a particle with
trajectory e(t) = (£F — 4. 4% + 1) for ¢t > 0.
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